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17 19 : : , 1648
B. (B .Pascadl) ,1681 D. (D .Papain)
, 1850 - - (William George
Armstrong) ,19 - (F Jinken)
,1795 (Joseph Bramah)
20
19 ,
: 1905
(Janney) 20 30 :
1936 Harry Vickers
20 50 : , ,
: (TH Aachen) :
(MIT)Blackburn,Lee  Shearer (
) Harry Vickers
20 60 , ,
60 ,
;70 ;80 :
( Lee )
(CAD CAM)
, 20

(Emerging Technology)
; ( 1-2) 21
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20 80

20

1968
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70
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20 40
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2 5 MPa
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, 70
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21 M Pa

6 3 MPa

20 :
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700
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1 200 10 000 (
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480 ,

, 145  (
(1S0) ,

30%,

GE
100
60 500 )
60% ,
23 48 , 6 1998
2004
79 66 ),
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(273)
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, (2-3) , K
K , Ke , Ke = (12
20) x 10° M Pa, , :
3,
( )
21 .l'J M,
y b
- ) T utdu
0 | Lb’ X v
’ —0 777 ’
F, A
du dy 271
_ du _
F=n AOIy (2-4)
N
T ( ), (2-4)
_F _ _du _
== ndy (2-5)
(1) N : (2-5) :
N :
n , ( ) n
Pa s( - ) N-gm( - [ %) CGS( )
N dyn- ¢ cm’( . ), P( ) P cP(
)
1Pa- s=10P = 10’ cP
(2) v n p ,
v =n/p (27 6)
: Y (
) m/s( ° ) CGS V
cm’/ s( ?/ ), St( ) 1St( ) = 100 cSt( )
1mY s = 10" St = 10° cSt
1\) 1 1
, 40 (mnt/ s) L -HL 32
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40 32 mm’/ s
(3)
CE), (SSU), (R),
( 2-2)

3( ®2 8 mm) 1 2 T >

t ,200 cm?’ =g==ff || 2

t N ;

20 b

°E 1 4

°E = t/ b (2-7) | _

20 ,50 100 ’

°Ex B °Euco 1
°E v |
v = (7 .31°E-GT§1)>< 10° m’/ s (2-8) o-2
1— 12— 3—
4— 5—

(4)

( )
(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)

(9)
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: GB 7631 2—1987

(L ) Ho( ) , )

‘ -L Ay B EESY EEVGI20A0°C I i Iz SN R EE 932mmis)
dn e H—#% H= i . L — bR 85 51 %L T

# 0. i T

= L1
L

HL—32

e 32 HL 32

o 1 e

1.
GB 11118 1—1994 ,
2-1
21

( ) :
L—HH 15,22.32, : '
46,68,100,150

( L—AN ) L—HL
L—HL 15,22.32, ! ’
46,68,100
L-HM

L—HL :
L—HM 15,22.32,
46,68,100,150 ’

L—HV L—HS

L—HM
L—HV 15,22.32, ( )
46,68,100

, L—HS
L—HL
( )
L—HR 15,32, 46
, L—HR
HM HL
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L—HS 10,15,22, , , L—HV
32 .46 L—HV ,
L—HM - ,
L—HG 32,68
- %
2.
GB 7631 2—1987,
( (O W) (W 0)) -~ ( -
) ( )
22
22

(Q W) , , 80%
L—HFAE 7,10,15, , :
22 32 ,

5 50
L—HFAS 7.10,15, ’ ’
22 32 ’ ’
5 50

(W 0) , 60% , :

L—HFB 22,32.46,
, L—HFDR ,
68,100
5 50

L—HFC 15,22,32, ’

, L—FDR
46,68,100

-20 50
L—HFDR 15,22, '
32,46,68, 100 ’

- 20 100
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(

10

2-4),
2 - 5)
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2-4 ( )
7 MPa 7 14 MPa 7 14 M Pa 14 MPa
50 50 50 80 80 100
HL HL HM HM HM
HR HV HS HV HS HV HS
HL HL HM HM HM
HFAE HFB
HFDR HFDR
HFAS HFC
2-5 ( )
v(40 )
(mm?/ s)
5 40 40 80
7 MPa 30 50 40 75 HM ,32,46,68
7 MPa 50 70 5 90 HM ,46,68, 100
30 50 40 80 HL ,32,46,68
30 70 95 165 HL ,( HM),32,46,68,100, 150
30 50 65 240 HL ,( HM),32,46,68,100,150
40 70 150 HL  ( HM),32,46, 68,100, 150
; 70%
) : :
10 ,
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(1)
(2)

(1)

AA,

A A,

(2-12)

: (
A A AF
_ AF _
p—AI/LOAA (2-9)
p=H A (2-10)
2—3(a) h
: 2~ 3(b)
A Ah, pgh A, ,
MA=pAA+pghA A (2-11)
p=p +pgh (2-12)
P,

Py h o
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(2)

ERRESRER

h

|
|
|
I
|
I’

(ap

p= p tpgh

:
= [
E-i‘_':

-

—

i
e
ag b P
ib)
. (b) ;(c)
h,
(2—12)

rb+-@ = h+p—3:const(

23
(a)
(3)
(4)
P, h
. h
( )

(2-12) (2~ 14)

2-4

PY

). PPy

273(c))

P\

(2-13)

(2-14)
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I
P=p,
b ]
A
T_:. b [
p=0
v s i 1 2
2-4
S Pa( ,N m’ ),
kgl e’ ( I , I i’ (
2-1 2-5 p = 900 kg m’
1000 N, A=1x 10°m’,
p
+
; HJ'_’:: ________

i

(2—12),p = p +pgh,
p=HA=1000 (1x 10°) N m* = 10° Pa

h=05m

Pp=pmp+pgh=10 +900x 9 8x 05 =

10044x 10 NN m*= 100 N m’ = 1 MPa

(2-14)

at,
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h)+&: h+-p
PY Pg
, b =0,h=-05m,

p=p+pg(hh - h) = HA+pg(0-h) = F A-pgh =
1000 (1x 10°°) - 900x 9 8x (- 05) =
10044x 10NN m = 10° N m’ = 1 MPa
2-1 , , pgh

(Pascal' s Law),

26
( A, F) (
A, F), ,
R =R
E F
pz=;=gl=pl (2-15)
E = F % (2-16)
(2—16)
(1) AZ/ A1 > 11 Fl, F2
(2) F =0
] F2 ) Fll
| F |
'l-rE-l-:.-}'\.
F
l”.'ll.-_:; 1
Pt .
R P —
144 43
SEEEEEEE

2-6
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F p A , ,
F= pA (2-17)
, X Fx, p
Ax ,
Fx = pA (2-18)
(2—18)
22 27 A
D, d; P, ( Jp =0
& o | P
i -
y (-
y [
:':!.:'I'I" E :-l_:_.a
J — ;H . y 7
2P — y ) N
4 L A IFIE
i) y
{h)
2-7
(a) , (b)
2-7(a) : (2—17)
F=pA=p D
2-7(b) , A :
, (2-18) ,
A A, =1t d/ 4 ,

F=plAz=pan
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1.
2.
( ) ( p
P) , P=p(XYy,2),u=uU(xYy, 2,p=p(XY,2),
( ) t 4 p: (le’z1t)’
( ) 2~ 8(a)
2-8(b)
3.
( 2-9)
)
% v,
M==——= ==—=—1
- — —A 7
(a) (B =
28 29
(a) ; (b)
4
C,
( 2-10)



25

2-10
. q : m/ s LU min
, u : 2~ 10(b)
, dA, dA
udA,
qi _udA (2-19)
u ( 2~-10(b)), (2-19)
q 1 H
Y ,
qj’ _UdA = VA (2 - 20)
v= g/ A (2~21)
Y
qnj' PUdA, g
(The Continuity Equation)
2-11 ,
Ar,vepr A,vep( A>A), :
pr VA =p2 v A (2-22)
(2—22) ,
Pr =Pz,

ViAi = v A (2-23)

q = VA = const (2~ 24)
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(Bernoulli’ s Equation)

1.
, (2 14)
) P pg( ) :
, U/ 29( )
A Al 2-12),
y Vi v, o] 03
pPg 29 Pg 29

"»' L i

(2 -25)

(2-26)
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ol vy
2, XL
P9 29
2 .
h, : v
u a,
f AuzpudA
a = (2-27)
LVAV
2P
a ( )
2, a= 1 05, a=1
h, a
g+ R, 0N R GV (2-28)
P9 29 PY 29
(2—28)
(1) 1,2
2 Z+_Q y )
(2) Y
z p
(3) (2~ 28) , ,
( 1 : 2
1 )1
2-3 2—13 ( P)
Hs
; 1—1 22
, h, sl S
( o =2 = 1)
zl+'&+ﬁ: 22+-&+_+ Hs + h
P9 29 Py 2

: vin w(
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o - Y3 _ pV2
po- p =pg(H: + 5+ h) =pgH. +5 +Ap

pl i SACE
= I ey
1
) [ ) ——
e
2-13
, Hs
\b Ap
pg 1 L H
, 0 03 MPa
pV2
> AP '
Hs : : Hi< 05 m
( H: ),
(The Momentum Equation)
Yy F= d(mv) (2-29)
dt
: 214 : 1,2
( ), 1,2 A A, VR’
t (Mv)i-2 At : 1,2 :
(mv)r -2 At
A(mv) = (MV)r-2 - (NMV)1-2 (2~-30)
, 1 —2 ., (2730)

A(mv) = (rn\/)z-z - (m/)l.x :BpoAtVz -sz('ﬂtw
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z F:ﬂ%:pq(ﬁzvz - Brv) (2-31)
q— :
B B2
( )
: B=1
2-14
(2—31) :
> F ’
2= 4 ( 2-15) , V,
9, d, \b ;
¥ i s
’ N/
¥, ={E
7
o
|||
2-15
: : B. =

B =1, (2—31)
F=pq(w - v) =pg(wcos9® - wcod) =pg(0 - vwcod) = - pgwvicod
IF )

F( ) F ( F
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F =- F=pqgwcod (2-32)
F’
2-5 2-16
y.of d p q
) Vi, V2, 07 =0
1 p=o B
F,
[31 =B2 =1 Ha ¥,
( ), !
o]
p’% - F=pq(wco®: - vcoD:) Qi:g
b
Ve mow, v, 06 =a,
0: :0, '
py
_nd 2-16
F=0p 4 " PQwcos
FF : P (V2 COSX
nd
. p A
h,
Ap
19 : ( Reynolds)
(
2-17(a)), ,
, , : ( 2-17(b))
: v : (
) (o ¥ \V
Re = vdu/v (2~-33)
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= 4A Xx;

(o¥

o¥

[}

La)

217

, (b)

(a)

Re:

2-6

Re
Re:
2 300

Re:

2 X

260

1 000

1 000

1 100

.F'J'J'J'T'J'J'J'J'J'

2070

H

d)

R(

2-18
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(p - pr? -t2trl =0

P
S A

I
VAL SIS SIS S

B i
—

dr ] .
= o I -
'-.‘_.'I'? T

=
=

[

rrIII'\.

T

=

2—18

. (2-5)12trl = - Ztr hdd dr(

du dr ) - p =ADp, (

2~ 34),

du = ZAh—%rdr

(2735) u =0

(2-36) ,

FEEEESE

tax = A PR/ 4 | = A pd/ 16 |

qj' AudAi :uZTrdr =1%f:(R2 - F)rdr = %Ap

- ( Hagen— Poseulle)

nd/ 4 321 2
(2 - 38)

Ap =32lv_ 64 1oV _

d Red 2

A A = 64 Re,
A =79 Re; A = (80 108) Re(
(2 —40) (Darcy)
l v P n ,

, (2~ 27)

>

(2-34)

(2 - 35)

(2-39)

(2~40)
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2.
_y 1pV
Ap=A 4 2
A Re , N d (A
A , 2=7), A =A(Re,&N d) A Re
N d 28 ,
2-7 A
A| 004 025 |00015 001(00015 0.06{00015 001 03 04
2-8 A
Re A
4000 < Ren 10 A = 0316 4Re°*®
10° < Re < 3x 10° A =0 032+0 .221Re 0%
Re > 9004/ d A= (2lg(N d) + 174)72
: : bax = (1 1 3)v;
a =105, 1
(
)’ ]
( ) ,
Ap ,
Ap =P (2-41)
{(— : ;
p— (kg m’);
vV— (m s)

Ap =Ap(d ) (2-42)



G— ( )
Ap—- G ( )
Fapsyantyencyagty ey ity (2743
(2~ 43) 10 20 ,
3
Id< 05 ( 2-19)
I 2
I |

l|':||"I| .|IJ.'|I.'
=1 || =

e

1

D

LY
;;;J
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, 1—1 2—2 ,
a =1,
DL M _p ¥y
pg "29 pg 29" 2
12 h y hl
h: ‘h: =2Vil (29), h: = (1 - Al A)* Vil (29) An A,
Y h=hi+h =( 1) &/ (29) A=A u=w,
1 2 ,2Ap
Ve = j—(pl - p) =G (2-44)
i+1 P P
CV__ ;CJ = 1 ]
¢ +1
Ap— Ap=p - p
g= Aw = GC A /%D:QA) 2%9 (2 - 45)
Po—— A =1tdl 4
C— G = A A
C— .G = CG
(1) G , Dd> 7
: ,Re< 100 , G
G =-094R"™ (2 - 46)
Re > 100 G ,G =060 061
Dd<7
, G 2-9 , G 07 08
2-9 G
Ao/ A 0.1 02 03 04 05 0.6 07
G 0 602 0 615 0634 0 661 0 .696 0 742 0 804
(2) , ,
(3) (2-45) ,
G
2-20(a) , Re 2-20(b)(

1,2 x =GCG,x=> G , )
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, Re > 10°, ,G =067 074
,G =08 009

o 1.0
— 1 < T

' 08 L7 I 0.74
= 0.6 ,.f:f r"'f_..-..:? =4 0.67
y - - + F .-'f ',‘.-" . b ﬁ-—r\
= {I 4 ra"'r. .-l"'IIJ" _-l"'",'r e i
. A 1A AL .
= 9V,
0.2 =
;M ﬂ
A— [ (45 I 2 46 10 20 4060 100 200400 600 1 000
B— 4 P
&
{a) (b
2-20
(a) : (b)
2-21(a) , Re  2-21(b)

, Re>10 ,G =077 082

f_l_l [ 1 L1 1 1 [ L1 L
0% 1 X 3510 203070100200

Rehsd
ihy

(a) ; (b)

I d>4 | :
- (Hagen — Poseulle) ( (2—38)) :

9= 128 1°P
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3.
05< Vd=s 4 1.0 N8 lh——
( (2- W7 —
15)) 0.4 /ff”'""
q= C A QA[) [:I.E/
Y 0.1
G ,Cd 2—22 I 10 100 1000 10000
’ Re > 10° C 08 difed
, 2-22
: «( )
( )
1.
(1) 2-23 ,
h, b I( b | h), ,
Ap = Q = p ( ) 1 V)
dx b dy 3 v
: p T : I ISP,
X -,} f2 T_li“mdﬂ
pbdy + (T + d )bdx -thdx - (p+ dp)bdy = 0 o = — |
T P/ -
a _ dp
dy  dx v AN N -
T =ndu dy = ;j'r
du_ 1dp ) B
d n dx 2-23
y ul,_, = 0
up_, =V , p X , dgdx=-Ap |,
il h
h h 3
y(h-y) v _ _bh bh -
af ,wdyq [T AP+ ylbdy = G5 mAp+ v (2-48)

(2) , Vv=0, Ap=p - p
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q-= 12 IAp (2-49)
(3) Ap
_ bh _
q-= 2v (2-50)

(2-48) (2~ 49)

2.
()
(1)
1) 2-24
| h d H dn | ffff
b=md (2-48), 7 Q%
q:Tiz(rj]h|A p+ %‘v (2-51) /
, V ) » /
Ap + 7 '
v=0, ? a f.fr
q 1M |AIO (2-52) // . %
2) 2-25 /| J ‘ %
e 0 h ;j i 4
n= r =rs, db /i \/
b= r (2 - 48) P !
h’ h _
dq = %A pt T%v (2—52) 2—24
h= h - ecof= h(l-eccod)
r—b_ .
€ —— £ = & h, Emax = 1

h (2-52)
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_ e dhs 2 1t dho _
g= 1 IA p(lx 1 %)+ —2 v (2-53)
+ " , V=0,
_T[dhg 2 —
g= 1m IA p(lx 1 %5°) (2-54)
(2—51) (2—54) ,
, Emax = 1( e= h)) ,
( )
25 , ,
(2)
2-25
1) 2-26 , 27 26(a)
, : ; 2~ 26(b)
*'lx.f;_}ffff.f;.f.n Ifr’.-’.-"f.-’.-’fff.-‘]_l
.|I] _'n_-r+|;]_l|-_;| _\:: o il_
| — f
T iy
= - K- ST
il ! —
[N i o8 P, i,
I NN N NN | N Y
! [
{al (b
226
(a) ; (b)
0, h, p h, R,
v, X h p, dx . dx
, dx
2~ 26(a) , -Ap | =dp dx
(2—51)
_mndh’ dp , mdh
9% "o ax T 2 VY
h=h + xtar®,dx = dHh taf,
_ __1ng dh &v dh _
dp = ndad K tad BV (2755)
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ta® = (h - h) | (2-56)

__ _e@lth+h) 6l
AP=P - P ="ihn)y 9 hn'

_nd _(hh) mt dhs b )
= @i(h+h) P h+n" (2757)
, V=20,
_nd_(hh) _
(2-55) pl., =P (27%6)  (2757) ,
~ 1- (h/ h)’ mv(h - h) _
P=P T T )PP hih - h)" (2759)
, V=20,
_ 4-(h/h _
P= P T ()R P (2-60)
2-26(b)
_ (h/ h) - 1 .
2) 2-27
e, 2-27(a) . 2-17(b) (2-60)  (2-61)
, (
) , 2-27(a) , e ,
, 2-27(h) , e

" b i

|

P

7, (" A s m o . 3 . . :

)
o

(a) (b

(a) : (b)
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F =0 27IdA pf
| — ;
+— ,
Ap—ro ,
f , f=002 008

03 10mm, 1 5mm
6%

(

12

I

mMPa
[

(1) :

(Lt

2 - 28),

(2-62)
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(2)

(3)

2 .
(1) 229 a5 38
- = — ]~ T
( ) =
d Vo =
, B -
y IB Ap( e I:.IL:I'
® T
), = T e e
i B
c B A , A : B 5 - 29
, C A, B :
, < T=2Vc |,
Ap= oW
Ap= (% - v) (2-63)
t>T=2fc
Ap= pvT/t
Ap=o0o(T t)(w-v)=90(T t)Av (2-64)
(2-63) (2—64) P —
o,V —— ;
t—— B ;
T(= 2V ¢)— I

C——
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(2)

AV ——

At —
(2—67)
At,

(1)
(2)
(3)
(4)
(5)

Kd
1+E6
P
prax = P+AP
T
_mv
Ap = AA t
( )
( )
Av

Po (

(2~ 65)

(2 - 66)

(2-67)



(1) : p/ p <35
(2) : :

(3) ,
(4) , :

10 . ? ?
11 . ? ? ?
12 .20 ,200 mL 51 s, 200 mL
( p =90kg m) 50 229 5 s,
°E,v n
13. 2-30 , ( 900 kg m*) ,h=15m,

2-30 2-31

14 . 2-31 A, B pa =900 kg m ,pe =1200kg m’ Za
=20cm, Zs = 18 cm, h= 6cm, U pc = 13600 kg m’, A, B
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30 kN( ), ?

30 kM

i g

ilL5m

2m
ll
t
I||
i
[l
10 m
s

40 m

I min

|
|

2-32 2-33
6. 2-33 d = 50 mm, 100 mm,
' E
17 . q= 40 L/ min, v =10° m’/ s,
: d
18 . g=25L min : h = 400 mm,
d = 25 mm, p = 900 kg m*, v = 30x 10%cm/ s
: ?
19 . 2-34 : g=60L/ min :
900 kg m’, v = 30x 10°° m’7 s, d= 3cm, L=2m,
0.5 m, ,
P = 0 04 MPa,
== A A '
——— = E . e A
= p=3.2MPa
_é) L 4,
L=2 m Ll
2-34 2-35
20 . 2-35 , p=32MPa,
A=00cm A =00lcm, G =0 6;
100 cm F = 16 kN, p = 900 kg m’, v

21 . d =50 mm, | = 40 mm, r=0 .05 mm,
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n = 45x 10° Pa s, A p =10 MPa,
, e= 0.03 mm;
10 cm s



5)

6,7
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, Tt

Po = pgq = pVn = T:Q = 2t Tin

L/ r(nr/ r)

(371)

(372)



49
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,q 9 9
q
_ g
nv =
o
p )
k
nNv
(3-7) :
(
;M
, T T
(3—2) T. = pV 21,
m = v
™ = ot
(372) (3=7)  (379)

- B__p _ g pv
Vnat T

=B = rnT

(375),

_kp_, kbp
o} Vn

(378)
(379)

(373),

= NvNm (3_10)

(373)

(374)

(375)

(376)

(377)

(378)

Fg.on
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105

(3-13)

1.
(1)

1 30),

3-5
3-5(a)

z D h m

V =1tDhb = 2t znf b

V = 6 66znt b
q= 6 662znf v
qnax, qnin
O_ — ax - n
q
, 20%
3-5(b) ) ( 375(Db)

(3-11)

(3-12)

(3-13)

(3-14)

1(

3-5(c)
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(
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(2)

80%
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1,2

36 37
2 .
( )
( 3-8(a)) 1 , 2 3,
4 5 ( 3-8(b)) 1( )

2 , 6 7
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(a)
1— ; 2—
)
1.
(1)
6 5 (
e
(2)

qg= 2tbeDmv

(h})

(3-15)
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Heqh 1

(3715) :

(3)
1)
2)
24
3)

7 MPa
4)

(1)

Ax,
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(2)
, 0, P, Ka, k
t ks, %o
Pc
[Pnax
3—10

q= k(% + ew) -

AB :

Pc

k k

ks

©

‘ ", BC

I

1pmax
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M 51k 1
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R-r

q=2bm(R - r) - o 2l mv (3-16)
b R r 0 S y4
4 8 12
16
3.
(1)
(2) 3713
) B ,
1) el
B =B -6
B 0 10 20
3
3-13 3-14
1— 12— 3—
(3)
, F
F = psB (3-17)
p ;'S ; B
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3-14

314
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e, d, a
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LE S AV
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2
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i

LYY,
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(3717)),
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_
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(2)

(3-18)
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1) 3-18 , 8 5
9 12 3 2
13, 14
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3-18
18

16

17

15

3-19

c,d, e

3-19

;c,d, e—

30 MPa )

(
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|
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1— 2— 13— 4— 55— 66— 7—
1.
3-21
1 3 4
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: a
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, a b,
]
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%’ __';_J—-T;:%uu,i il 11
L === s
b
(b
3-21
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_ L _
q= 4d22ezn]v =

ﬁez
2

mv

(3-19)
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1. ?
2 2 2
3. ?
? ?
4. ? ? ? ?
?

5. ?
6 . ?
7. ?
8. : ( 3722 D ,
Phnax , 2

i

-
3~ 22

9. ?
10 .
11 .
12 . p = 10 MPa, n= 1450 1 min, V = 100 mlY r,
nv = 0 .95, n =029,

13 . 950 ¥ min, 168 ml/ r, 29 5 MPa
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0 87,
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TT _
FR=FR=(p-p)An=(p-p),(D-dnr (47 1)
_ _ _ 4q) v _
\A—Vz—ﬁnv—n(Dz_dz) (4-2)
, A , D,d , g P, R
Nm  Nv
(2) 4—2
( ) | 2
. T
K, -
A,
Lo 4, = - =1
i, |= = - i |
: — r
T
I
11 g ‘J‘ i3 a r.ﬂ'-ﬁ'
() {b)
F,
4 1
1, |a o
cr-rf" Lcr'
1';::;
(c)
4=2
(a) ; (b) ; (©)
( 4= 2(a)), Fi Vi

Fo=(pA-pAN. =[(p-p)D+pdnn (4-3)
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V1:A1v 2;1[_0'1:])21 (4_4)
( 4-5(b)), R \b
R=(pA-pAN. =, I(p-p)D - pdn. (4-5)
_ _ 4q)v _
"Z‘im‘n([f-d?) (479)
A A
A > A, u < w,kh > F
AV
v _ 1 _
No= = . (4-7)
1-(5)
d=D f—“”)\'l (4-8)
D A, d
4—-2(c)
( ) :
: ( 4-2(b) ) F
\s
B o= p(A - A = p ood (4-9)
_ a v 4aq v _
YT A- AT Td (4710)
, V=, (4—10) (4-6)
D = y2d
4—3(a)
( )
4-3(b)
1 -
F:pmm:p4d2nm (4711)

a v 4a v
vV = = 4-12
A nd ( )




70

Y —

+ r -
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4-3
(a) . (b)

3.
(1) :
4—4 , ,
D d,
P , Ps,
Gdp=70Dnp (4-13)
_ Dy _ _
s @(j;)f%w P Km (4-14)
v - (D2
,r]m ’K_ (d) ]
| | 1
. - . - |
] | !
|1,r3. IJ.I ‘].ﬂ-
4-4 4-5
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(3)
: 4-6

1A p

4-7

1,6—

4-8

18 24 3
12 21

F=op "ZD%qmi (4~ 15)
v = 20v (4-16)
1t Di
b
’ 4-6
T w
T 2 -
T=24p5D Do (4-17)
_ _8av_ _
W “ 1D (4-18)
: g D : Di
4 5 2
@) :
4-7
2,7— ;3— 4— ;56— ()
10 8 1 15
19 16 25 4,7,17 4-8
( )
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X 20 M Pa

13 23 ,
a ¢ C , a
14, (
i 3 4 5 & 7 8
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L\ B W77,
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20— 21— 22— 23— 24— 25—
5 ,
10 M Pa : 20 MPa

4-9
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4-9
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4-11(a)

4~ 11(b))

: 4-11(c)
4-11(d) |
e
S —— HRsH — =1 TN
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(a) ' (h)
= --"'AISI I_T' = - m
c=-f  =HrEENY
ol — e o R
i 1 1\\-. IF"' o G =k k
{ch )
4~ 11
(a) ; (b) (0 ()
( 4712(b))

(
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o

(a) ; (b)

(1)

(2)

(3)

(1) 5

(2) q
d= (03 0B5)D; | 4-1
D Av , (4-8)

GB/ T 2348 - 1993(

(b
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4-1
p/ M Pa ps 5 5< ps 7 p>7
d (05 055)D (06 07)D 07D
(3) L
, 20
3.
(1) o 0
ODoé= 10 ,
nD _
5= 2[0] (4719)
, D ) Py : p.< 16 MPa pp = 15p,
pp= 16 MPa , py =125p;][0] ,[0] =aw n,ob
, N : n=>5
Do < 10 ,
D| |([o] +0 4p } _
o= - 4-20
2 j[o] -13p 1 ( )
(2) d :
4F
d> |- 4-21
o] ( )
, F ;[o] ,[0] =aov/ now
, N n> 14
|> 10d , F
1.
2.



T = Fyr = FyRsing = FRtamsing

T ()

: ( 500 ¥ min
( 500 ¥ min ) ,

p’ )
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\Y
: n
q G s q
- a9
l q
n \% (
3.
T T, T
T T
4 .
P
Po
n
_ P _ 2inT _
L N
; n
T =
(4-23) (4-29) :
n T X
T q Ap
1.

o]

—

=

P =Apq

Po

T2Tn
, (4-23)

ZinTnm _ 2TnT.

Nvilm = 1Nvim
A pg 17 =0vN

Aq

(4-22)

(4~23)

AT

(4~ 24)

(4-25)

(4-26)
(4-24),

(4~27)

(4-28)

(4-29)
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( ),
( ),
' ( 10 ¥ min ,
) | |
4-14
6 8 |
2 ! 2 10 |
’ : 1 2 X ,
! A,B «
a b a b
a ,V .
2 ’ a Fui, Pz,
X Z ’
o b ), 2
X , ’ y |
f 5 4
-_-F- e
! _2
|
\
— _ % :3‘-_—__
1
4-14
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( ) ,
4-15(a) ; : 300
b _
T=7>(R-R)(p - phnn (4~ 30)
20 v -
= = 4 1
W= 2n (R - R) (4~31)
, b 'R 'R
1
]
a3 I.
|
I —
J
(a) (b) (c)
4-15
(a) ; (b) ;(c)
4~ 15(b) , , 1508
; 4 - 15(c)
4-16 1 2 3 4
5 6
A=A
f
3 e
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A W DN P

d,dk(d > &), ,

6 .
8 LY min
F=1000 N,
7.
1 2 kN,
10%,

0.1 nt s,
0.2 MPa,

p1
?
D = 50 mm, d = 35 mm,
( )
F = 20 kN,
5 M Pa, :
? 0 85,
, 25 000 N
D, d; ( 45
80 mLl/ r, 50 N- m

4 62 MPa

F

Vmax = 4 Ccm/ S,
?

25 L/ min,

0 85,



(1)
(2)

(3)

q= CAA g (C
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1)
(
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3.
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{a) 1h:| (ch
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_ 2 ) -
q= G Dx jp(n p) (5-1)
Fs = 2GmDxcod(p - p) (5-2)
Fs : 5-1
5-1
fi¥ *
i;iﬁ %;’
ANV )
U
ﬁ\[ I; o
Q‘nm_§ ris
(L EE:
\
NN =
(2) ( 5-3(b)) a 12 40°
g = Gmdxsim j%(pl - R) (5-3)
Fs = 2Gmudxsinz(p - p) (5-4)
(3) ( 5-3(c))
q= Gmdu X jl(pl - ) (5-5)
R p

'R ( ) h = R - (d2)
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(2)
(3)
(4)
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(1)

5-4(a)), P 2 A 3

( 574(b)),A

T — — — ]

(2) : 5-5

), 5-5(a) 5-5(b)

4 ( 575(b)),
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4)
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(3)

(4)

1)

2)

3)
4)

(1)

P,A,B, T

4

5-10(a)
P,A,B, T

5-10(a)

P
5~ 10(b)

(P,A,B,T)

)

5~ 10(a)
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( 5-45) 8 ,
2 ,
1
a b
a A
9
6
C )
41 g 6T o 10
- !
e 1.I
37 S g% =
=1 i §
s / |
J.':t.” .-".r..-. .--r-"f. d
. .
3
B g el
M il B
2 N
X
HE e - . \\
\\ B
1 'J\
i}
A 4
5-45
2— 13— 14— i 5—
7— ; 8— 9— ;10—
( 6 3 MPa)
( 5-46) 8
a b C
) 8 b

5-43
5741



119

3)

T, . a 1 P
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(a) ;(b)
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X Fs : q , P
5
pA = K(x + X)
g = Gmdxsim %Ap
Q= & = Tg (P P)
( )
PA=pA = Ki(pw+Yy) +Gx Fr + F
2
g = Gmt Dy /5
Ki, Ko —
Yo, % ——
y, X — ,
Q G— ,
q —
Ap——
P, p— ( ) ( )
A, A— ;
D, d—— ;
o ——
@, —
n—- ,
p— ,
C— :
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G,GC—
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q
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X G Fi Fs :
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(579)
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, , P
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: . P , Ap
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A
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) 6
( 6 mm( 60 L/ min)

I
|
=9 W
L1 T(Y)
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(1)

Y uken
(2)

B e =
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(al
5-67
(a) (b)
1— 2— 13— 4— 5__
5- 68
8
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S 7
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SRT
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a
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5-71(a) : A ’
, B 4
P a b |
P 8 d 1 A p.
A P B P Ap = p - p;
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LTS e
R A E A
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N E= ZZ | — i TEEIERY
s == P SN
ffffff{ff;f r 4 ) th 15 4
€3 2
ia) (b}
5-71
1— 12— :3— 4—
5-71(a)
D= p-p = K(x - X’Z\P-oqvcosm (5-16)
q=CAAp = CA(p - p)° (5-17)
Ao — ;
K ——
X ————
X— ’
p— :
vcosp ——
Ae X , K : (5-16)
K(» - X) pVvCcosp A pw : : A
8 Ap, P
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=p-p Ap

’ ’ (p - p) | |
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4 .
(1) - (5-16) (5-17)
( A, P, 50
AB,AA,AG) , A pw a0 — A,
- ( 5-74) = A,
£ 30
, , | A,
= 20
1) I-I’__
A Ae ’ AT 1,
Ap <A prin (A Prin 0
) 5 i 15 20 25
’ AP p—paMPa
5774 -
A pr,min y
A p\N min f y
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)
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1.
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; P : pr =,
y bA bB y dA
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)
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3.
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5 = —HAal 1009 = 2LB =G 1, 1500 (5-18)
1 G+ G
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Ap=|p - p | : A g, H_'r*
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; 0 A 1015 20025 3
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Ac A B

Fu , F
(5-19)
(5-20)

Fs Fv , ,
Fx = F+ A+ F
Fv = paAv + s As
. >R ( 5-83(a)
); B > Fw o, ( 57 83(b)
)
X
MHEGS
aw
A
5-83
(a) ; (b)
3.
(1)
4
1) 5-83 ,
A,B A, As
Ar + A = A o
Al Ac (
, a<1 Ac ,
, A - B,
, Al Ac =1 1
A A 1 2
Al A =1 107
B A : A - B 15
2)
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A-B
B- A

A - B (16

A - B (16

A - B (16

A - B|16

1 120
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5~ 84

1)

5—85

2)
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10 . ? ?

11 .

12 . ?

13 . ? ?

14 . : )

15 . ? ?
16 . ,

17 .

18. 5791 : pr = 6 MPa,p = 4MPa, pc =
2 M Pa, . 5-91(a) ? 5-91(hb)
1YA,2YA 1Y A 2Y A 1Y A 2Y A :
? 5-91(b) ?
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19. 5-92
(1)
?
(2)
2

(3)
20. 5-93

F=35x 10'N,
(1) ,
(2)1Y A ,
(3)LYA 2YA
21 .

: 5 M Pa, 2 5 MPa,
] IA1C
, 15MPa ( ), A, C
A, B,C ?
T de S AT
Il_.I. r ']
T S |J_| DE
y, c L
[
I /H;I'[
® |
Ll —
5-92
, A = A =100x 10 m’,
4 MPa,2 MPa 3 MPa JA,B C
3YA ,
| Il
I A | | B | DE
AN MDY
YA | 2YA ava |, 4YA
[T1 i [ 1
] .
i - (
il

2

==

%,

Ny

5-93

Ap=03MPa,

g= 25 L/ min,
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p = 900 kg m*, A
22 . A= 100x 10° m’, 500 40 000 N ,

(6 3 MPa), ? ?
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1.
61 , 2 1 3 ’
2.
6°2 ( 6=2(b)), 2
3 1 4 ,
32 M Pa, : ( - 10 70 )
A d
1 !
I"'H.-" Fl =
1 2
A F
/ /
I
ity o
] —E =

6-1 6-2 6-3
1— 2— 3— (a) (b) 1— 2—
1— ;22— 3— 4—
3— ; 4—
3.
6-3 ( 6~2(b)) 3
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1.
Va Pa Vw
Pz o2 ,
prVa = pVi = pV: = const (6~ 1)
VA \VZ P, P2 'n
n=1; , , ,
n=14
pl p ’ y VW :VZ 'Vl,
(671)
1 1
VW[_]
Va = - B (6~ 2)
SR
[ P
Pa 03 , , 0
, pr < [, , p. =(08 0385)p,
p. = (06 065 p
2.
Va Pa 03
(o AlV) (
2
),
Vq Vi Va 14 _ Pa VA|: P o 286 }
= - -1
I Va pdV=J' VApA(V) av 04 (pA)
Vi :pAL\f(O .4) o 1 (6~ 3)
2 pq (pA)OZSG _ 1
(6-3) , P, 90%
3.
Y _
Va = —0 6K (6~ 4)
Ve (L r);

— =AM W ,AV (L):
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K——  K=Apg p,Ap
: p. = 0 6pr
1.
GB T 14039—1993, 1S04406
, 1 mL
S5um : 1 mL
15um 26 , :
S5um
19 m : 6~ 1)
1mL Sgm 2 600, 15pm
170, (6—1) : 19 15, 19 15
61 (GB T 14039—1993)
1 mL 1mL 1 mL
/ / /

> 80000 160 000 24 > 160 329 15 >032 064 6
> 40 000 80 000 23 > 80 160 14 >016 032 5
> 20 000 40 000 22 > 40 80 13 >008 016 4
> 10 000 20 000 21 > 20 40 12 >004 008 3
> 5000 10 000 20 > 10 20 11 >002 004 2

> 2500 5000 19 >5 10 10 >001 002 1

> 1300 2500 18 >25 5 9 >0005 0.01 0

> 640 1300 17 >13 25 8 > 0 0025 0 .005 09
> 320 640 16 >064 13 7
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62
62
1310 | 1411 | 1912 | 1613 | 17/ 14 | 19 16 | 20 17 | 21/ 18
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1- 6( ) > 21 ( ) > 17
17 - 21( ) -
2) 3YA LAY A : : :
1 - 6( ) - 21 ( ) - 17
17 - 21( ) -
3) ] ]
3YA , 21 : :
3YA : 21 :
: “ - 19 - 20 - ”
3.
(1) : :
(2) :
(3) ‘ " :
(4) 6 ,
21
: 3 mm 481 mm ( ) 18
( 1 200 kN), ( (4 320+ 5)mm),
9 : 2 [/ min
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),

14(2

12

15

21 MPa,

1(

5

40 L/ min),

12

10

13

! | ]
L
B -
\ | ZH
m ! oo |
= " ! u._h_\ _r
S H o
3 e m_.l ....m-.- :
— P S I
=
=
- =
- H 7
= y
S T
I = L
Sl =
- _}_ e =
1l .- | r4 —_
=l ]

;6,15—

;10—

114

;13—

112

11—

873),
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8—3
1YA 2Y A 3YA 4Y A 5YA 6YA
+ + -
+ + - +
+ + +
+ + -
+ +
+ - +
3.
(1) , ,
(2)
(3) :
JS01

JO1

180° -

95 -
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- - ( ) - (

) - - - - - - -

1.
8-6 1,2,
6 3 MPa, (35 +18)L/ min 1 2 P, R
3 4 8 p(15
1.8 MPa), p,p P 28 27 5 6
1 2

8—6 JSO01
1,2— :3,4— :5,6,7,9— ;88— :10,14—
11,13,15,17,18,23,24— ;12— :16,22— ;19—
20— 21— ;25— ;26— 1 27—
28— ;29— 1 30— ;31—
32— ;33— (34—
29 30 , 30 :
10 14 29 , 12

11 13 29 ; 15 30
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31 33 16
22 : 17,18 23,24 , 19 31
32 : , 21
: 34
, 25 (
), 26 7 1 31 34
2.
8-4 ,
84
IYA | 2YA [ 3YA [ 4YA | 5YA | 6YA | 7YA | 8YA | 9YA |1I0YA|11YA|12YA| YP
+ - - - - + | +
- - + - - + +
+ - - - + - + +
+ - - - - + +
- + - - - + +
- - - + - - + +
+ - - - + + +
+ - - - - -
+ - - - + - -
+ - - - - + /| +
- - + - - + +
- - - - - - + +
+ - - - + - + +
+ - - - - + +
- - - + - - + +
- - + - - - + +
+ - - - - + + +
+ - - - - -
+ - - - + - -
+ + - - - - -
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(1) (

(2)

(3)

19

(4)

275’6 3141 11 12



224

11,

—

11 -

—

—

11 -

—

5 min ,

11;

| 10

ige |
L |
e — _
"_1 = T\.______._uvl_l

[

;3,4

7 7,9,13—

12—

11—

;10—

(1)

(2)
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(3)

(4)

12

( )11,
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12

10

T,

(12—

11—

;10—

4= 2
11

(1)

12,

(2)

-
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7 6 ’
5 5-3 , 3 9,
; 10 7
3.
(1) , |
(2) | |
(3) :
1m?
: : 1
2 3 5
( )
8-10
1— 2— ;33— 4— 5—
6—  T— 8—

(12 255)
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8-5
1.
8~ 11 1m ,
110 kW 1,2( 32 MPa, 2 x
100 Y min), 1,2 ;
14( 2 000 cm’/ r)
9 ( , 2x 4 000 cm’/ 1)
2.
1 3 14 16,
7
2 4 5 17,
11
1 13 ( )
: 1 :
1 2
7 11 23,
; 6 10

10

12
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14

&

"%
<.>

8—11 1n?

1,2—

;12—

;10—

7,11—

;15—

114—

13—

16, 17—

123

(22—

121

;20—

:19—

18—

14

8)

20

1.734 kml h

3 4kn h,
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1.
2. Y T4543
3 .YA32-200 (
?
4 . 8- 12 )
WAIAN T WA
'J—' IYA IJ-I 2YA
I W] L
“He r [ 7]
1A
-
e
Ll
8-12
5 8—13

1Y A

2YA

3YA
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9-1
( ) ( ) :
1 ( )
( ) ,
, 9-2,
973 974
9-2
F N T (N- m)
+ Fe+Ffs + Te+Tfs
*+ e+ Fu + F + Te+ T + T
+ R+ Fgq * Te + T
t R+ Fu - F £ Te+ T - T
tFe, Te

Fts, Tts v Fid, Tra R T
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9-3
Fi/ N Td (N- m)
( 9-2) \% ( 9-3)
Msk' R
Ms(G+ Fy)/ sin(o/ 2)
Ms(G+ Fn) |Us(GeoP + Fn)
Mo(G+ Fn) |ua(GcoP + Fn)| pa(G+ Fn) sin( 2) Mo F' R
G ; Fn B a VvV y R
;R , M; s, Ud s = 0 1 02,
Mg = 005 0.2
Ir-'lll -Ir'., Ir.'ll
|f.i
rl. -
7 . -
W% s
S
fii &}
9-2 9-3 V
9-4
F/ N na
T/ (N- m) ¥
:m (kg);a (m §);J (kg- m?),
J= mbD% 4:D (m); € (rad s?)
, (F-t 9-4)
2 ( )
(v—t 9-4),
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¥ |.
| |
| |
| I ) T,
| ' -
0 | . Py
i I | Y
| | |
ML |
[ ' |
| || I
o | || IJ._
| BN i e - B - T
I 2l - — ——
TPt i 2 il 5]
974
, ( )
), |
( ) | |
1.
( 9-5)
9-5
/ M Pa
0.8 2
3 5
2 8
8 10
10 16
20 32
’ 25 100

32 MPa
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2 .
9-6
9-6
( 9-5)
pA - pA = pA - pA = A=A =A
VW = Tmal (Amnm)
Finad Nem Finad Nem A(p - p) = Fral Nom
A2 Q'nn/ Vnin(A Al AQ) VM = qnin/ Mhin
TP, P2 (Pa), ( ) 9-7 AL =Tt DY 4
(m2); A =mi(D? - d?) 4 (m);D,d (m); Fma ,Nem , Vinin
(N) ( 09 097) (rrl S);Tmax,r]Mm,nn’in,VM AP
(N- m) ( 09 095, 08 009) (7 s) (m¥ 1)
(Pa) ; Gnin (mdl s),
W, Vs
il . il [ l al B
1 : : . : }
7 Y J L« - !
2, P 2 Iy
(a) (b
9-5
(a) ; (b)
9-7
[ M P,
02 05
05 15
05
08 15
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9-6 , :
D , d
, d=D J()\-l)/)\, d 9—-8
9—-8 A d
A 1.1 12 133 1 46 161 2
d 0 3D 04D 0 5D 0 55D 0.62D 07D
A< 161 A = A 2, d:—D= 0.7D
\2
3.
(1)
qnax = AVmax (9_1)
A— (M)A A);
Vinax (m’l s),
(2)
Grax = Vwm Mnax (97 2)
Vi (m’l r);
Mnax (v s),
4 .
(p~t ) (gt ) (Pt
)’ ] ]
p~t ( P t )
9-9 ( ) g-t
(9-1) (9-2)
: q-t , q-t Pt pt q-
= pq 9°6
9-9 ( ) p : Pa
( 975)
4| E 1| _E F T
Al[r]cm t R Az[ncm ¥ @Al] Man P Vanum
AL, A2 (m2);A ,m2;VM

(m¥% r);

(N)

(N m);Nem ,NMm



239

— ,f R

g === 3. il

JII S _JII_ ..................... __||l P I
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(1)

2)
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3)

( 9710),

(< 3 kW)

(> 5 kW)

(3

5 kW)

(2)
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(3)

(4) , ( )

(5)

(6) ( )

(1)

(2)
(3)
(4)
(5)
(6)
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1.
(1)
Pz p+%Ap (9-3)
p—p-t (Pa);
> Ap—
> Ap=0; ( )
: SAp=02 05MPa
S Ap=05 15MPa
(2) ¢ (M’ s)
1) ,
( 9-7),
¢z K5 GQ)mar (9~ 4)
K —— , 11 1 3( : );
(> Dra— (m’/s),
2 3L/ min
ql ,—:L
)
9-7
2) , ¢ (m7 s)
¢ = K(A - A) Vo (9-5)

A, b — (m’);
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Vhnax (m s)
3) : p
. KV _
¢ 2 Zl T (976)
z — ( ) ;
Vi — (m’)
T — (s)
(3) o
, , P 25%
60 % ( , ) o2
o (L/ min)
o = Vnx 10 °nv (9-7)
vV — (cm’/ r);
n — (¥ min);
nv (%)
( 9-11),
(4)
( ) P- (W)
P = pr:—o‘ﬁ (9-8)
P, — (Pa) (m/ s);
Nr—— 9-12
9-12
06 08 07 085 08 09
( )l
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)

(1)

1)

2)

(2)

(3)

(1)

31

Zn &

(W);

25%

(979)
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(2)

(3)

(4)

()

(6)

(1)
(2)
(3)

(4)

03

1 MPa

(675)
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(5)

5o

(2-41)

ZApv

y o0
ZAp=zAp+zAp +ZApv

560
560

> Ap(
24P

(9-10)
(2-29) (2~ 40)
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2 n
n . ne Na
Nc N
N = Nefcna (9711)
, , 09 095
Nc
Ne = w (9712)
Z P o
Z P op—
Nc
e = % (9-13)
Nci
t — (s);
T — (s)
3.
(1) :
H = Pa - Pao (9-14)
Pri (W),
Pao (W)
H = Ppi(l-r]) (9_15)
N
y Ho .
Ho = KAAt (9-16)
K— (W (m- 1)), ; ( )
K = 8, ( 1m s ) ,K=14 20W (m- ),
,K=20 25W (m- ), K =110 175
W (m- ),
A—— (m’);
At—— , ( ) At<

35 , At<s 40 Ats 25
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(9 - 15)

(2)
1)
Ar,

A

T, Te

b, b —

P, —

Po ,pw

Co, Cv—o
2)

H Ho
At= H (KA)
1 1 1 1 2 3

A=0 065 {\V

(9- 16)
H
At = 3
0 065K AV
(L)
CHo- Ho
Ar = S

_ (T -%) - (T - &)
Ao = (T - Y (T - )]

()

()
(9-22), T2

H- Ho = gpoGo( i - T:) = qupw Gu(t - &)

(m’/ s);
(kg m’);
(J (kg ))

Copo VA t
nn

(L),

(s);
nh=0'6 08

(9-17)
038

(9-18)

(9-19)

(9-20)

(9-21)

(9-22)

(9-23)
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M e MR R

i &) L

i &

ith

(a) ik

(a) . (b)



251

[9])
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( ) CAD
CAD
: CAD
( Ms = 0 2;pue =0 1),
9-13
9-13
/ mm [ (mst) /s
G N Fe/ N Ats
t
100 01
1
b
50 0 88x 103 9 800 30 468 0.2
56 6
B
150 116 667
-15
9-14 9-13 9-14 9-10
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980 N;

9-14
/' N
Frs 1 960
GAyv
Fra + g At 1480
Ftd 980
Fe + Fta 31 448
Frs 1 960
GAv
Fra + g At 1480
Ftd 980

tFts = Ms(G+ Fy) = 02x (9800+0) =1960N;

_ GAv _9800x 01 _

"Frg = Hg(G+ Fy) = 0.1x (9800 +0) =

Av )
500 N;° (m ?)
L/mm |
150
| Lk}
{ -
wim s ) 15
0.1
088> 10 \
v \ s
Fim
31.448
1.96
0,981
il -
0,98 s
[ i |9 [
L-t VTt F—t
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9-5, p =4MPa
, , A
2 A ( D d D = {2d)
0 6 MPa, Nem = 0 9,
A - = _ 3140486 = o4x 10 nt
Nem ( -%) 0 9(4 - 5710
D= [*A - j4" 94x 10 - 109 m
Tt Tt
GB T 2348—1993, D=110mm = 11cm; A = 2A,
d=0D 2 =17 2= 80 mm( )

A :%DZ = Ix 11 _ o5 cpy

Ao =%(D2 - ) =”Z(112 - &) = 44 7 et

) 82 P,
pp =05 MPa, : Ap=0; :
0.7 MPa
15), (  9-11)
giim’ =5 ')
FIW |} i Pa
—_—
TR0~ 037 - :.': N
3.96 - e
.
. i,
-f.. :i EL_ LT TE TT |
0 s
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9-15
F N
p/ MPa p/ MPa |[d (m®- st) N kW
1 960 0 48
£ 4 pnp
p="" 1 480 127 0 77
g= Avi;N= pgq
980 116 0 66 05 330
Ll
=T 31 448 0.6 3 96 0.83x 10°° 33
a= Aw;N=pq
1 960 0 48
p =1 Ao 1 480 0.7 186
dg= Aw;N=pq
980 0.7 173 0 45 780
1.
60, ,
: : (Y )
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4— :5,6,9,10— JT— :8,13—
11— ;12— $14—

, o = 3 96 MPa : :
Ap=08MPa (973)

pr =39 +08=476MPa

9-11 ,

: Ap=04MPa,

p: = 396+08 =476 MPa
: (03 (0 5x
10 ° m’/ s) (9—4) K=11,

¢ =11x 05x 10° m/s=055x%x 10°m’/s = 33 L min

2 L/ min, 0 83x 10° m’ (0 5L/ min),
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2 5L/ min
YB:. =2 5 30
9-11 , (9-12) ne =0 80,
pPe Op 2 26x 10°(2 5+ 30)x 10°
P = = = 1 53 kW
Ne 0 80x 60x 10°
: , Y112-6
2 2 kW
( 9-16),
9—16
(LY min)
/ (m- st) /s
ALt e) _ P _ O+ B _ B
qQ = A - a =4q A - i = A - b= Vi -
(2525 +30), _ 61 4447 _ (25+30)x 10° _ 100x 10°° _
50 .3 T 95 60x 50 3x 10°* 0 108
61 4 28 9 0 108 0 93
_ A _a _ _ L
9 =9 5 = N b=, "
q =05 05T _ 0.5x 10° _ 50x 10°  _
9 60x 95x 107* 0 88x 101 - 3
0 24 0 88x 10°° 56 .6
_ A _ _ 9 _ _ L
9 =9 °% WS AT E= T
q = O + Op2 = .3 -3
~ 32 5-95 _ 32 5x 10 _ 150x 10°° _
25+30 =325 a4 7 60x 44 7x 10 0 121
69 0 121 124
2.
9-17
(6~5) , ( =6,

V=C0¢ =[6x (25+30)] =195L
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9-17
(L- min*) [ (L- min) MPa M Pa

1 2 530 63 YB.—2 5 30
2 69 100 63 03 35DY ~ 100BY
3 62 100 63 03 22C- 100BH
4 <1 6 63 Q- 6B
5 69 100 63 02 | - 100B
6 325 63 63 02 | - 63B
7 30 63 63 XY - 63B
8 <1 10 63 B~ 10B
9 69 100 63 02 | - 100B
10 30 63 63 02 | -~ 63B
11 325 50 63 XU=50x 200
12 K - 6B
13 25 10 63 Y - 10B

6 .3 MPa, 4

0 03 Y min, 0.5 min
1.
d= 18 mm, | =2 m;
v =1x 10" m7 s, p = 0917 4x 10° kg m’
(9-16) g=69 L/ min
vd _ 4q 4x 69x 10°°
Re = — = = ) —~ = 813 < 2320
V nme 60x mx 18x 10°x 1x 10™*
A =79 Re= (L& - 49
4q nd

(2 - 39)
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3 -4
_ 4x 75pvl  _ 4x 75x 0 9174x 10 x 1x 10°x 2. _ ) ga g0

AP = o ax (18x 10°)°
, Ap
Ap =0J1Ap
(2—42) ,
Ap =Ap(dqg)
, 9-18
9-18
(Pa)
A p 0 854x 10° 0 006 96x 10° 0 452 x 10°
Ap 0 0854 x 10° 0 000 696x 10° 0 045 2x 10°
A p 1 448x 10° 5x 10° 0 317x 10°
Ap 2 367 4% 10° = 5x 10° 0 814x 10°
Anp 0 402x 10° 0 00348x 10° 0 690 x 10°
Ap 0 0402x 10° 0 000 348x 10° 0 069 0x 10°
A p, 0 406x 10° 6x 10° 2 38x 10°
Ap 0 848x 10° =~ 6x 10° 3 094 x 10°
— 5 s 44 .7 _ 5
ZAp—2.3874>< 100 + 0 848x 10 95 = 2 .78x 10 Pa
pr> 396 +05 =4 46 MPa
p:’2 y 8 '
p>=> 186 =00814 =1 941 4 MPa
9-16 , , 8%,
97%,



260

_ pa _ 3 96x 10° x 0 83x 10°° _
fle = ¥ - 2 5x 10°° 30x 10° 01
Pt * P20 4 46x 10° +0 068x 10°
60 60
’ pPZ ’
pe = 0 3% 10‘5(2—(; = 0 068x 10° MPa
ne = 0 .80, Nem = Na = 0 95,
(9-11)
n =080x 0.15x 095 =0 .114
-3 -3
4 a6x 10f 222510 | g gegx 10p 392 10
P = Dqu>1+DP2CI>2: 60 60 = 274 8 W
" Ne 0 80 '
(9-15)
H= Pu(l-n) =274 8(1- 0114) = 243 5 W
(9—19), K=15W (m- ),
H 243 5
At = = = 7 43
0 065K |V 0 065x 15x {(195)°
1 2 ?
B
3 9-13 I —
i | G
), = 100 cm’, 50 |
2 — 1
cm G = 5 kN — |,
F. = 10 kN, v = 6 nf min: 7 1l (e
F. = 50 kN, v =02 m min; <3 '_LLE__H
F = 10 kN, v = 12 mM min
1 2 :
3,4,6
4.
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— — — . G -

5 5 kN, Fe = 9 kN, L =0.3m, L. =0.1m,
v = w =0 075 n s, v = 0016 M s, At =
0 05 s, , s = 0 2, Me = 01
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(3)

(4)

(5)

(6)
(7)
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10—1
101
1 5uym 250m
! % 1% 01 1
| Hz 100 500 10 150
20%
, DA
DA
; DA

10
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2.

(1)

1) 10 -4

(0 02
0 06 mm)
K] 2 |
* & — AN P
A ol
P, | | a.
¥ o) 4 HH
£
(a)
| 5 /h ' |
\ \ , /
S TEA RN IR S
77 b A ( ||
‘ Yo | |ril'...'
B --l:l-- Pea
£ 1 i M i 13 i L
(b
10— 4
1,4,8— 2,5, 7— :3,6—
Ps— » PT— iy Pey G—

2) ( 10-5(a)) ( 10—5(b))
, ) 1 ( 05 2mm)
2

2 1 ] ) )

3) ( 10-6(a)) ( 10-6(b))
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/! "',k'u.
) § g

0] i A p

S B {4 6 o
(aj b}

I I I IIE N IrP 2
RN | N A 1

Sl AL

S AT VY77

P - —
e — 7y
., o,

(a) by

10-6
(a) . (b)
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(2) «C )
1) : (
10-7) : X (
)
Xu X2
X , X
4 , Xa X
Xa X % Xa
X X
10-7
(a) ; (b) (c)
2) ( )
( 10~8) ( ) : ( , ) ot (
h; ( ) t () h
( ) t () h
( )
3)
( ) ( 10~ 7(a)), ( ),

( 10~ 7(b))
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) ( 10-7(c)) ,
h h
=5 o3
P — —
(a) ih)
10-8
(a) (t> h);(b) (t= h);(c)
2 , 2 3 , 3
3.
(1)
, 10—-9
) 2 )
5
: 90 100 LY min + 40%
0 | 200 Hz,
(2)
250 L/ min)
( 10 — 10)
, 4
3 7 2 ,
' 10 '
11, 1 2
4 :
: 7 : 3
, : (
, 10

10

L |
()
(t< h
1
: 8
(80
4
, 2 7
11 1
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10 ,
3 10 ’
10 2 , 10
; 4 , 7 2
10 10 :
10 1 2 7 ,
7
B
5 & £)
|
“x\?x.‘\ A
Py
=y A

o te, p P

-
b

[ ¥

i s -:ur\. P ‘ 4 .-I_.' |.; j-L ||'|.- -:Ijh.

002 0.06mm), ) ,
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(1)

1)

10— 10
1— 12— 3— c4—
; 6— T— ; 8—
10— ( ); 11— ;12—
10-11),
P
_ 2
q = Gwx. jp(ps - p)

(10- 1)
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g = Gwxy ’%pz (10 - 2)
[ |

10-11
9 =g =q, PP=p+p P =p-p,
o = %& (10 - 3)
p = B2 (10~ 4)
(10-3) (10— 4) (10-1) (10-2) ( - )
4 = Gox. jl(ps- p) (10~ 5)
p
¢ — ;
G — ;
© ( ), =1d,d
XV —
P — ,
p_ —_—
10-10 (
), X = Kuw , ( -
4 = Guwxs jL(ps. - n) = GKui jl(ps - ) (10 - 6)
p p
Ko ( );
i
(10-5) (10-6) . q
Xv , Xv i ,
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a = q(x,p) (1077)
2) [T~
—
'_____—-—-.__
(i) P
’ —1 . |
10—12
’ :
:
"\_--‘_----_-
, I~ 1;
(i 10— 12
_ pL— yPL—pU ps, P
( 10 ~ 13), o i o= i
y im L — a =
: o/ am, q » G
( ) !
R
|
B T

s e H
T

2 503 28

/ -

Hi1 S
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a(s) = Kixv(s) - Kep (9 (10~ 24)
Vi
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m 1 m=10° cm= 10> mm V
in 1in=00254 m=25 4 mm
m’ 1m =10' cm= 10 mm v
in 1in¥ =6 451 6x 10°* m=6 .451 6 cm® = 645 16 mn?¥
m’ 1m =10° cm’ = 10° mm’ v
L 1L=10 mL=10"2 m®=10% cn® = 10° mm?’ V
in’ 1in° =1 638 71x 10°° m° =16 3871 mL =16 387 1 cm’
S V
min 1 min=60 s v
h 1 h=60 min=3 600 s V
ms |1 n/ s=100cn s=60 N min v
m min |1 m min=0 016 666 7nY s=1 666 666 7 c s V
ins 1ins=0.0254mM s
m & v
rad s V
¥ min |17 min=(1/30) rad s V
kg V
t 1 t=1000 kg v
N 1N=10°kN=10° MN V
kgf |1 kgf=9 806 65 N
| bf 1Ilbf=4 448 22 N
Pa 1 Pa=1N n?=10"° MPa V
at 1at=98066 5 Pa=14 695 949 |bf/ in’
Ibff in®> |1 Ibf i =6 894 757 293 Pa=0 068 at
mUr [1mUr=10°Ur vV
m*/ min |1 m*/ min=1 000 L/ min V
L/ min_ |1 L min=0 001 m°/ min= 16 666 67 mL/ s vV
USga/ min|1 USgal min=0 003 785 4 m*/ min =3 .785 413 L/ min
in/ h [1ir’/h =4 55196x 10 ° m’/ s
Pa s V
cP 1cP=10"°Pa s
'/ s V
cSt 1c¢St=10"° m/ s
N- m V
Kgf- m [1 Kgf- m=9 806 65 N- m
W 1W=10 kW v
PS 1 PS=735 499 W
HP 1 HP=745W
Hz 1 Hz=1s v
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1. ( 3)
3
(mL- r'') MPa kW
CB 4 250 63 14 22 973
CBG,CBL 16 .7 203 24 10 16 105 116 7
CBN, CBQ, CBP 6 80 16 20 18 34
CBz 32 100 125 25 | 297 93 3
GPA 176 633 10 06 16 8
CB~-B 25 500 25 013 25
CB—C, CB~ D,
1093 9084 10 14 887 43 7
CB~-F,CB~ FA
CBF —* 6 140 16 20 35 8 8
CBX,CBY 10 40 10 20 887 43 7
BCB2 52 170 21 35.7 116 7
G5,GPC4 5.1 656 14 25 21 267
CB3 4 14 14 16
CBz2 32 100 16 25
YBC 4 20 8 20
BCP 4 22 18 25
CY 183 833|142 324
BB~ B 4 125 25
BB~ XQ 12 ,16 3,5
NB 51 160 25
GPA Sperry Vickers NB BB—B BBXG
CB~-F,CBG CBZz2,BCB2
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( 4)
4
(mL- 1) M Pa (r- min' ')
YB
Y B 25 100 6 3 960 1 450
64 914 7 1000 1500
YB
10 114 10 5 1 500

YB—D 6.3 100 10 600 2 000
YB-E 6 200 16 600 1 800
YB." E 10 200 16 600 1 800
PV2R 6 237 14 16 750 1 800
T6 10 214 245 28 600 2 800
YZB 6 194 14 600 1 200

YYB 616 194 113 7 600 200
YBN 20,40 7 600 1 800
YBX 16,25,40 63 600 1 500
YBD 10 63 63 10 600 1 500
YBP™ E 20 125 16 1000 1500
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( 5)
5
(mL- rt) M Pa (r- min'!)
XB 95 227 14 21 | 1500 4 000
, 05
0.7 MPa
CYl4-1B 25 250 32 1000 1500 ,
XB 150 100 25 2 000 ,
B 1055 945p072 20.4 2200 3600
TBP 10 50 7 32 1500 2500
A2F 94 500 35 1200 5 000
A7V 20 500 35 1200 4 100
A8V 28 107 32 1600 2 850
/B 87 841 21 970 1500 ,
ZXB 106 7 481 4 16 970 1450 ,
ZB750 915 32 970
2Z/BYC~ F78 2x 75 20 2 000
XB 54 8 227 32 1500
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(mL- r' %) MPa (r- min %)
RK 176 94 |225 100 1500
32,40 25 32 1500
BFW B
17 6 128 25 32 1000 2400
( 6)
6
M Pa mm L- min’
1966—1968
’ 25,63 300
1965 (YUKEN)
VICKERS ; 6,10,
21, 35| 20, 32, 1200
, 50,80
6,10,
315 20, 32, 1250
50,80
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M Pa mm L- mint
VICKERS 6,10,
20,25,
20(25) , 900
35
32,50,80
REXROTH
25,31 5
1 200
63
1987
130 , 3 000
GE ' 6,10,
: 16 300
16,20
10,
6,10,
D 16,20
20
1992
YUKEN
21,25, 01, 03,
315 06,10
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